EXERCISE #5 Organic Chem II Alfred State College


Making Alkynes

5.1 special case from GEM and VICINAL dihalides (acid/base)

gem dichloride






solvent = 





+  + 2NaNH2


 HC(CH  + 2


+ 2NH3



       vicinal dichloride

 solvent=






      + 2NaNH2


 HC(CH  + 2


+ 2NH3


5.2 Making Selected Terminal (RC(CH) and Di-Substituted  (RC(CR’) Alkynes

Suggest two different routes to:   C2H5-C(CH

hint:  can be done from acetylene or from a dihalide

route 1:

route 2:

Suggest a route to :   C2H5-C(C-C2H5
5.3 Substrate vs Product  (restrictions on dihalides for alkyne syntheses)

Circle the dihalides below which will form an alkyne in NaNH2/NH3(liq)
(R=CH3)




NaNH2 in NH3(liq)

R3C-CH Br2





R2HC-CHBr2



R2CH-CH Br2




RH2C-CRBr2




R2 HC-CBr3




RHC-CHR

    | |

    Br Br

R2C-CHR

   | |

    Br Br

H2C-CHR

   | |

  Br Br

Can you predict the products formed in all the cases above ? (put your prediction above )

